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Speedy Solution :-

10 _s00
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4. AR ST T W qe @ 30% A 8 a0 it g
W 10% B G [ Wi 8, @ oy vl wm -
(D) 17%

1
(A) 13:;% (B) 20% (©) 15%%

(RRB ®=MTE A.S.M., 2004)

Speedy Solution : (D)
a1 fF FIER = 100 TEET
A T =100+ 30 =130 T
10
=130
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. TFE 0 Jq30-13-117 TqW@

=13 @
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(RRB TZAT G.M./T.M./Khalasi. 2003}
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3. U e faman s g0 W 20% 92 1 IR 15% AN
siffa o &1 Wed o sifwa e # -
(A) O A 35% AfUF  (B) THATFT A 15% Nt
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HFa T =

(RRB FETTZ TA., 2003)
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7. T® FoM g e 160 W9 /1 UF =@ 10% T T HA i 0 # R 100 T B
W R S g ¥ P I G TR I FOW B g FR 1 @HZ G = 100-20=80 T
122,40 T9¢ F1 YR Fww &, M @ G B/ oW @ - HI 1 A ed =100+ 20 =120 941
(A) 5% (B) 7.5% (C) 10% (D) 16% N . %_g. 100 = 50%
o -
‘ (RRB 7 |, ks wIRF 5% 3 T TR B AR TH % fag
Speedy Solution : (D)
o B T R T T e R 1373.70 TI0, 3731 H@N 21 HEME H FEA F -
A IR, ' (A) 1446 wn: (B) 1118 FUT (C) 1308 FUT (D) 1438.25 HUY
(RRB =% C.C., 1998)
100-10)(100 -
150*[ 100 )( 100 ']=122-40 Speedy Solution : {A)
% e A =200 100= 1446 T
= 160 x —x|1-——1=122.40
100 [ 100) 12. T o fawa R T W e fRa F gl T wm
x | 12240 1224 26% g1 ¥m & T FER R I TG H FEA W A0%
5{“1‘55J=15x9—w Tz 3T 405 T F d=an B, & A T GEH 79 2 -
(A) 500 FUAT (B) 550 FTAT (C) 575 HYAT (D) 600 FIAT
1224 _ x 2160 .. -
e e v ox= s =15% (RRB TETT A.S.M., 1997)
8. U IEFIN B 9eg 1 qrq 39S %9 T4 U 20% A | Speedy Solution : (D)
3TFa HT 21 afx 77 312 70 B fa@ W 31.20 399 H G SR S SR v
a2, o I wfawE @ g - el S
75 90 _ 4 10 .
(A) 8% ® 12%  (0)123% () 83% 300 *100 - i e
13. 2%% % fom @ 800 €0 H T (FHRE) AW -
Speedy s%uﬂon 1 (A) (A) 10 ¥UT - (B) 20 ¥TAT  (C) 30 ®WAT (D) 40 ®q4T
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aﬁmo»{zﬁzw?m (RRB {TvaT T.C., 1996)
i - B Speedy Solution : (B)
312 ® W G = 31.20 T : _
LT —
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¥ = 108 - 100 = 8 T @ R 2
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ar - T g AR g (WET) 5% ¥ am:
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(RRB T30 A.S.M./C.A., 2000) LR SRELE o ><[ 100 ]ﬁ
Speedy Solution : (C) 120 x 95
ur f 3R qe9 = 100 F741 o e === =114 w7
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